M6 FE

=

AEHEEMX

SEiﬁj, ( 2m) /k/7

TE M SRR
THMOF1TH

HEET=



BHEERER

REILEEBMK A (-12m) BEETE

# 5 Fg - BiKsTE i =1 il & & W E
EREISE 88, 686, 032
MEISEE 49,238,042 + 28,536, 490 77,774, 532
HERFE GD 40,351,746 + 8,327,804 + 558, 402 49, 238, 042
HERFE (EE) 40, 351, 746
HERKE (R ) 96,276,232 x 8.65% ((5.45% x1.28 +1.50%) x 1.02) 8,327,894
FEBRRUER 96,276,232 x 0.58% 558, 402
BHinEEE 137,924,074 x 20.69% ((19.09% +1.00% x 1.03) 28,536, 490
THR(E 88, 686,032 + 77,774,532 166, 460, 564
—REEES 166,460,564 x 16.00% (16.00% x 1.00) — 838 26, 632, 852
R E 166, 460,564 x 0.04% 66, 584
Tt 166,460, 564 + 26,632, 852 + 66,584 193, 160, 000
EENEER 3,803,934
HEE 3,803,934 x 73.4% — 6,021 2,786, 066
AEFER 3,803,934 + 2,786,066 6, 590, 000
AEEFMmE 6, 590, 000
E Rl 259,500 + 7,785 267, 285




BOHEERER 12 1L 5 2 4 B S (—12m) B L T

# 5 Fg - BiKsTE i Hn = B {f & & W E
EEAGE 259, 500
BEEZE 7,785
Z Ot IR f 259,500 x 53.85% ( 35% + (1 — 35% ) ) 139, 740
FHRIE 267,285 + 139,740 407,025
—REEEE 407,025 x 53.85% ( 35% = (1 — 35% ) ) — 6,207 212,975
ETHEE 407,025 + 212,975 620, 000
BEHER 193,160,000 + 6,590,000 + 620, 000 200, 370, 000
HEBRERLE 200,370,000 x 10.00% 20, 037, 000
FARISE 220, 407, 000




BOHEENERE 12 1L 5 2 4 B S (—12m) B L T

£ L] Fg - BiKsTE Hi Hn = B & & % B E
EEISE 88, 686, 032
EHh (-12m) 88, 686, 032
BET 19, 184, 268
TS7BET 19, 184, 268
55 T#% GEITHIRE) EHEIKE-9. 5~-13. 0m 9,874, 280
1-1 95 78% EHHER) 8,936.00 1,105 9,874, 280
m3
75 7B (RITHERE) EHEZKE-13. Om (80 & X4RE1) 7,504,938
1-2 578K EHHER) 3,283.00 2,286 7,504,938
m3
g5 7B ERmE GITHERE) 1, 805, 050
1-3 S TRERELER HE G 1.00 1, 805, 050 1, 805, 050
HIER) .
=
T 61, 360,573
TiEMRERT 6, 553, 831
TEAE R GRATRIERAR) 4,199,920
1-4 T EMER REHBTTED 8,936.00 470 4,199, 920
m3
E R E R (BT BT HRAE) & X ARAT 2,353,911
1-5 T EMmER REHBTTED 3,283.00 717 2,353, 911
m3




BOHEENERE 12 1L 5 2 4 B S (—12m) B L T

# 5 BRI - Bk B H B B & & B =

BLtiET 29,872,424

EREEE L FITHERE 17, 809, 448

1-6 ZREES T (BEHMHER) 8,936.00 1,993 17, 809, 448
m 3

EREZELT EITHERE & R ARAT 10, 643, 486

1-7 ZREES T (BEHBHER) 3,283.00 3,242 10, 643, 486
m 3

EREZELT EITHERE 1,419, 490

1-8 ZEREEMME (BEHFHER) 1.00 1,419, 490 1,419,490
=

BHERET 24,934,318

B E iR 24,934,318

1-9 AL ERYFEHRE 1.00 633, 448 633, 448
|

1-10 EELZ2RHE H=0m 1,440.00 1,180 1,699, 200
m

1-11 B E b= b) BE 1, 440.00 1,792 2,580, 480
m

1-12 Jo—4 EHE mEE 30.00 6, 805 204,150
m

1-13 SR EH R 1.00 6,292, 344 6,292, 344
=

1-14 BeRb 1 BY 1.00 1, 955, 061 1, 955, 061
=

1-15 LRbFEA 733.00 308.6 226, 203
m 3




SHEERNRE RILBESH XA (-12m) B EETE
# 5 BRI - Bk B =) i % B =

1-16 L7bEik 733.00 2,622 1,921,926
m 3

1-17 XEL DS 8E(E wAL 88.00 5,909 519,992
S

1-18 XE+ D552 - Eff - "L 88.00 5,170 454,960
S

1-19 BRiAEL wAL 332.00 219.8 72,973
m 3

1-20 B#kiREEE 19.00 191 3,629
m2

1-21 R EH 4.00 860 3,440
#®

1-22 BIREZE 63.00 5,321 335, 223
m2

1-23 BIREH 63.00 1,470 92,610
m2

1-24 REESEMER 17.00 2,400 40, 800
t

1-25 T BREZE 57.00 191 10, 887
m2

1-26 T BIREH 22.00 540 11,880
#®

1-27 TrERE AL, t=30cm 519.00 483.5 250, 936
m2

1-28 EE t=bcm 542.00 1,770 959, 340
m2

1-29 RE t=bcm 559.00 2,104 1,176,136
m2

1-30 42 700.00 7, 841 b, 488, 700
m

BEYRET 8,141,191




B HEENRE

REILEEBMK A (-12m) BEETE

£ F g - BikTi BGr = Bl £8 =

BHEET 8,141,191
afEE 200kg/fB = i 8,141,191
1-31 AHEE 877.00 9,283 8,141,191

m3
HERHZE(FBL) 40, 351, 746
HERE 40, 351, 746
HEBERZE 40, 351, 746
Eft - A LME 26, 694, 530
Elfit & E X6, 000PS 20, 713, 607
1-32 EfE ERE 1.00 20, 713, 607 20, 713, 607

[a
Z UM 55 78RR ELER) 7. 5m3k 2,243,591
1-33 A LVRE ERE 1.00 2,243, 591 2,243,591

[a
FARY: T3EfR1, 300m3FE (FBE) 1,151, 658
1-34 R WVRE EEE 283 1.00 1,151, 658 1,151, 658

[a
FARY TEfR1, 300m3FE (FBRE) 917,658
1-35 R LVRE ®EE 1£31& 1.00 917, 658 917, 658

[a
Z UM HEEHMRI50tH 1,668,016




BOHEENERE 12 1L 5 2 4 B S (—12m) B L T

% F g - BikTi B #H B Bl & % =

1-36 X LME ®1E 2.00 834, 008 1,668,016

[a
EiRE 2,215,673
REEMEERR B E s 1,990, 363
1-37 HERDEEE Rk FE. BERE. 174V afvh, 70498 1.00 1,990, 363 1,990, 363

=
R E R BIRE 225,310
1-38 {REXH FE FiE 1.00 225, 310 225,310

=
EEBRBLESRE 7,590, 200
SEAR L 20mx20m A—F > &13m 7,590, 200
1-39 BEFLRHE 1.00 1,224, 000 1,224,000

=
1-40 FBEFLEZRE 1.00 1,050, 600 1, 050, 600

=
1-M BERBLBERSE 1.00 5, 315, 600 5,315, 600

=
zeE 3, 808, 206
BEXE REERME 3,470,526
1-42 B2\ 1.00 3,470, 526 3,470,526

=
BEXE REEHER 337,680
1-43 ReERMEMEES 1.00 337, 680 337,680

=




BOHEENERE 12 1L 5 2 4 B S (—12m) B L T

# 5 Fg - BiKsTE Hi Hn = B & & % B =

KE - BEEFREH 43,137
KERERE 43,137
1-44 KEREEH (1) TS5 7%%ER GELER) 7. 5m3k 1.00 21,767 21,767

=
1-45 KEREEH (2) TEfR1, 300m3FE (FEE) 38 1.00 13, 636 13,636

=
1-46 KEREEH (3) EEMMI50tR 1.00 7,734 7,734

=
EEIEE 3, 803, 934
BEXHE 3, 803, 934
KERBIE 3, 803, 934
KEgBIE 3, 803, 934
= 341,376
2-1 RIS 1.00 181, 244 181,244

=
2-2 HMERQEEZY) BT 1.00 80, 066 80, 066

=
2-3 MMEMRQEELY) % TR 1.00 80, 066 80, 066

=
KEAE TILFE—LBZE 3, 388, 558
2-4 B TR b EILR 1.00 638, 727 638, 727

=
2-5 HE EIE 0.02 739, 955 14,799

km2




BOHEENERE 12 1L 5 2 4 B S (—12m) B L T

# 5 Fg - BiKsTE Hi Hn = B & & % B =

2-6 BlFET—4 BE EILR 1.00 565, 843 565, 843

=
2-7T BE TR+ % TEF 1.00 638, 727 638, 727

=
2-8 HFE % TEF 0.02 2,657,113 53,142

km2

2-9 BlFETF—4 BE % TEF 1.00 1,477,320 1,477,320

=
[543 74, 000
2-10 ¥BEBE R 1.00 74, 000 74,000

=
BRI 267,285
BEXHE 267,285
[CTZILFE—LBIRE 267,285
TILFE—LBIZE 259,500
[543 259,500
3-1 IRFTEHET—HER 1.00 259, 500 259, 500
BEEZE 7,785
EHERARE 7,785
3-2 EXARE 1.00 7,785 7,785

=




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

B 1-1
&% V5B RGEAHED 1BHY (3724m 3)
A b HIE - BIKTE By = H £ M ZE " &
SFSTREMELRRA) (R/8y FX) (B |$HD 7. 5m3
AWEER) B 1.00 3,737, 394. 00 3,737,394/6.00H / 8H
SIfe (V5 TEER Xy FRK)) $MD 1500PSE!
B 1.00 359, 915. 00 359,915/2. 00H / 8H
MM 2FED%
% 0.50 4,097, 309. 00 20,486
& 5 1E3EREH : 3,724.00m 3 1,105. 00 4,117,795
EBS:1-2
&% V578 REGEABED 1B4Y (1801m 3)
A b I - KT -Riva = H £ S " =&
TSTREMELRRA) (R/8y F=X) (B |$HD 7. 5m3
AWEER) B 1.00 3,737, 394. 00 3,737,394/6.00H / 8H
SIfe (V5 TEER Xy FRK)) $MD 1500PSE!
B 1.00 359, 915. 00 359,915/2. 00H / 8H
MM 2FED%
% 0.50 4,097, 309. 00 20,486
& 5 1E3EREH : 1,801.00m 3 2,286.00 4,117,795
ES:1-3
W IS 7RERELER MR GEABELR) D)
A b HIE - BIKTE By = H £ M ZE " &
STSTREMELRRA (R/8y FX) (B |$HD 7. 5m3
AHER) B 1.00 1,598, 980. 00 1,598, 980|#tFR
SIfe (V5 TEER Xy FRK)) $MD 1500PSE!
B 1.00 206, 070. 00 206, 070| 4t
& Hi YEZEREH - 1.00= 1, 805, 050. 00 1, 805, 050




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

EBES 14
&% . TEMER (B HBTED 1BHY (3724m 3)
A b I - KT -Riva = H £ S " =&
T E# (1 #11300m3%E (ZF=t)
B 3.00 386, 100. 00 1,158, 300|8H
iR $fD 2000PSHY
B 1.00 586, 101. 00 586,101/6. 00H / 8H
MM 2FED%
% 0.50 1,744, 401.00 8,722
& 5 1E3EREH : 3,724.00m 3 470. 00 1,753,123
ES:1-5
A% . TEMER BEHBTED 1B4Y (1801m 3)
A b I - KT -Riva = H £ S " =&
TEM (1A £11300m3%E (Z E=t)
B 2.00 386, 100. 00 772, 200|8H
iR $fD 2000PSHY
B 1.00 512, 726. 00 512,726/4.00H / 8H
MM 2FED%
% 0.50 1,284, 926. 00 6,424
& 5 1E3EREH - 1,801.00m 3 717.00 1,291,350
ES:1-6
&% EREEELT FEAWMER) 1BHY (3724m 3)
A b I - KT -Riva = H £ S " =&
EREER GEAHER) $MD 6000PSE!
B 1.00 7,388, 594. 00 7,388,594|5. 00H / 8H
MM 2FED%
% 0.50 7,388, 594. 00 36, 942
& 5 1E3EREH : 3,724.00m 3 1, 993. 00 7,425,536




KRBT/ vr—2

BLUBEEME A (-12m) BRETE

E=S 17
&% ZEREXBL BEHBER) 1TBHY (1801m 3)
£ b I - BKTE G = B ] S " =&
EREEMR FEHBER) $MD 6000PSE!
B 1.00 5,811,012.00 5,811,012|3.00H / 8H
HHH 2FEDY%
% 0.50 5,811,012.00 29, 055
& 5 1E3EREH - 1,801.00m 3 3,242.00 5, 840, 067
E=S:1-8
2% EREEHBHE GEABER) D)
£ fi B - BRKTE G = B ¥8 M E " =&
EREER FEHBER) $MD 6000PSE!
B 0.50 2,838, 980. 00 1,419,490 4t
& Hi 1YEZEREH - 1.00= 1,419, 490. 00 1,419,490
E=S:1-9
&% AENYEERE 10484 Y
£ b I - BKTE Bfr = B %8 S " =&
e Eib $HD 30t
B 6.00 986, 535. 00 5,919, 210|8H
LEEER
A 18.00 21, 320. 00 383, 760
MM 2FED%
% 0.50 6,302, 970. 00 31,514
& 5 YEZERE S : 10. 0048 633, 448. 00 6, 334, 484




RER-FEL/ \vs5—2 EILEE B Eh (-12m) B EETE

&S 1-10
2% ELEZHHEE H=O0m 30my Y
A b I - KT By o = B il 8 S " =&
TARAK *&O15cmx 1. 8m
m3 0.40 10, 290. 00 4,116
cSv 8tig
B 0.24 37, 977.00 9,114/4.70H / 8H
HhH<IT
A 0.06 25, 580. 00 1,534
TEEES
A 0.96 21,320.00 20, 467
MM 2FED%
% 0.50 35, 231. 00 176
& 5 1EZEHES : 30.00m 1,180. 00 35, 407
EES1-11
2% BB (SR %E 60m L)
A b I - KT By o = B il 8 S " =&
S72FLb—29 L—r HHEARARERD GHIEfR#ES T8 25tH
B 0.60 56, 600. 00 33, 960|8H
cSv 8tig
B 0.24 37, 977.00 9,114/4.70H / 8H
TEEER
A 3.00 21, 320.00 63, 960
MM 2FED%
% 0.50 107, 034. 00 535
& 5 1EZ#EH : 60.00m 1,792. 00 107, 569
B 1-12
&% JA—42EHRE BLH 60m L)
A fi HIE - BIKTE By o = B il k8 M ZE " &
& S fe $MD 30tR
B 0.36 986, 535. 00 355, 152|8H
TEEES
A 2.40 21, 320. 00 51,168
MM 2FED%
% 0.50 406, 320. 00 2,031
& 5 1EZE#ES : 60.00m 6, 805. 00 408, 351




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

&S 1-13
2% R ERE 1®3Y
£ b I - KT Hfr = H £ S " =&
7 Ba—4 [fH#] E5.0m 7%1,300mm PERYE Z660mm
- H 97.00 3, 960. 00 384,120
Tad v [dLHE] £1,500mm Z660mm
&8 155. 20 1,610. 00 249, 872
PerbE (80 2] £6.0m {Z660mm
- H ,791.80 1, 150. 00 5,510,570
JA4vY—o0—7 #%26mm L=50m
X-H 77.60 411.00 31, 893
Fooh— EE3t
&8 71.60 1, 090. 00 84,584
MM EXZXOY)
% 0.50 6,261, 039. 00 31, 305
& 5 YEZEREH - 1.00= 6,292, 344. 00 6,292, 344
EES:1-14
£ . HERbiERD 1Yy
£ b HiE - BIRTE R = H @ 58 W ZE w &
B IE 48 0. 7m3 (:E4h/%k8h)
B 15.00 129, 689. 00 1,945, 335|8H
MM EXZ YY)
% 0.50 1,945, 335. 00 9,726
& 5 YEZEREH - 1.00= 1,955, 061. 00 1, 955, 061
&S :1-15
2% TR Tm3HY
£ b HIE - BIKTE R = H £ M ZE " &
TR
m3 1. 000 308. 6 308. 6
& Hi 1EZEREH : 1.00m 3 308.6 308.6




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

ES :1-16
2 LiER Tm34Y
% g I - KT By = i} £ ® =
TRER
m 3 1. 000 2,622 2,622
& &t EEfES 1.00m3 2,622 2,622
5 1-17
2% XETOSEE mAL 10%5Y
% g g - KT B = il ] B =

HEER

A 0. 161 25, 170. 00 4,052
BHEEXR

A 0. 161 24, 540. 00 3,950
LTREXR

A 0. 161 21, 320. 00 3,432
KEL DS EH HE O110XE110cm FEHRER (15) Xk

% 10. 000 3,770.00 37,700
Nyt E R

H 0. 161 56, 900. 00 9, 160
HHEE (E+FH0)

% 7. 000 11, 434. 00 796
& Bt {EX8E2 : 10. 00% 5, 909. 00 59, 090




RER-FEL/ \vs5—2 EILEE B Eh (-12m) B EETE

&= :1-18
£ REXDS51EA - B - FEIL 1BHY (84%)
A b I - KT Bfr o = B il £ S " =&
STFL—rL—r (HEARHER) GhREMHHES JE)25tHR
B 1.00 56, 600. 00 56, 600|8H
STFL—r9 L—r (A RAMNER) CREMRHED J8)25tH
B 1.00 56, 600. 00 56, 600|8H
FSwo 11t#5
B 4.00 45, 575. 00 182,300|4. 70H / 8H
U
A 2.00 25, 690. 00 51, 380
TEEES
A 4.00 21,320.00 85, 280
MM 2FED%
% 0.50 432, 160. 00 2,160
& 5 1YEZERE S : 84. 008 5,170.00 434, 320
&= :1-19
&% KREEL FRL Im35y
A b HiE - BIRTE B o = H il 58 W ZE w &
AR wREL
m3 1. 000 219.8 219.8
& &t 1EZEREH : 1.00m 3 219.8 219.8
ES :1-20
£ BBIRERE 100m2 HY
A b HIE - BIKTE Bifr o = H il £ M ZE " &
HEEE
A 0.152 25,170.00 3,825
U
A 0.152 25, 690. 00 3,904
TEEES
A 0.152 21, 320. 00 3, 240
N yhitn (Jn-381) B
B 0.152 52, 420. 00 7,967
HEE (E+FE50)
% 1. 000 18, 936. 00 184
& Hi YEZEREH : 100.00m 2 191. 00 19,120




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

EE:1-21
£ B REH 1EY
A b I - KT Bfr o = H £ " =&
i EH 1,524 X3, 048 t=22mm
[ = 20. 000 43.00 860
HME (£58)
= 1. 000 860. 00 0
& Hi YEZERE S - 1. 00%K 860. 00 860
B 1-22
2% BIR®RE 100m2 HY
A b I - KT Bfr o = H £ " =&
BIR-BIRZNRE EILRRERE |(BIRZEEDETONZLLT)
700m2LAF) m2 100. 000 5,321.00 532,100
HME (£58)
= 1. 000 532, 100. 00 0
& Hi YEZEREH : 100.00m 2 5,321.00 532,100
EES:1-23
2% BIREH Tm2HY
A b HIE - BIKTE Bifr o = H £ " &
Bk E#
m 2 1. 000 1, 470. 00 1,470
HME (£58)
= 1. 000 1, 470. 00 0
& Hi 1EZEREH : 1.00m 2 1, 470. 00 1,470
B 1-24
&% R EH Tty
A b HIE - BIKTE Bifr o = H £ " &
fsILEH BE#H H-300 1~6m
t 1.000 2, 400. 00 2,400
HME (£58)
= 1.000 2, 400. 00 0
& Hi 1EEHES 1.00¢t 2,400.00 2,400




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

&S :1-25
2% tEBIRHRE 100m2 %Y
£ b I - KT Bfr = H £ S " =&
HEEE
A 0.152 25,170.00 3,825
LU
A 0.152 25, 690. 00 3,904
TEEES
A 0.152 21,320.00 3, 240
N yhitn (Jn-381) B
B 0.152 52, 420. 00 7,967
HEE (E+FE50)
% 1. 000 18, 936. 00 184
& Hi YEZEREH : 100.00m 2 191. 00 19,120
&S 1-26
2% TBREH k:ED)
£ b I - KT Bfr = H £ S " =&
B EH 1,219X2, 438 t=22mm
v = 20. 000 27.00 540
HEE (F59)
= 1. 000 540. 00 0
& &t YEZERE S - 1. 004K 540. 00 540
B 1-27
£ TREEE AL, t=30cm Tm24y
£ b HIE - BIKTE Bifr = H £ M ZE " &
EEE FRAL. t=30cm
m 2 1. 000 483.5 483.5
& Hi 1EEfEH . 1.00m2 483.5 483.5




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

&S :1-28
2% . EE t=bcm Tm234Y
A b I - KT Bfr o = H £ " =&
3] t=5cm
m2 1. 000 1,770 1,770
& 5 1EZEREH : 1.00m 2 1,770 1,770
=:1-29
2% RE t=bcm Tm234Y
A b I - KT Bfr o = H £ " =&
=B t=bcm
m 2 1. 000 2,104 2,104
& 5 1EEfEH . 1.00m2 2,104 2,104
&S 1-30
B . FiR 1BHY (66m)
A fi HIE - BIKTE Bifr o = H £ " &
B LY Al 0. 7m3 (:E6h/%k8h)
B 3.00 146, 488. 00 439, 464 |8H
HEER
A 3.00 25,170.00 75,510
MM 2FED%
% 0.50 514, 974. 00 2,574
& 5 1EZEHES : 66.00m 7,841.00 517,548

10




RIER-FELT/ \vsr—2

BILBESHEK A (-12m) B EET S

#S . 1-31
2% GHMEE 185Y (150m3)
) 5 #E - BRTE By £ i ® %8 m = ® =
REHM GEMiERED §idD 150t &
B 1.00 1,129, 372. 00 1,129, 372|6.00H / 8H
SR §ifiD 700PSZY
B 1.00 233,171.00 233,171]2. 00H / 8H
GNSS3HI i & 1B DGNSS
=] 1.00 15, 600. 00 15, 600
FLoE—LEH 4. 0m3
=] 1.00 7,500. 00 7,500
HAH EXr Yo
% 0.50 1,385, 643. 00 6.928
& & fEZERES : 150.00m 3 9, 283. 00 1,392,571
#S:1-32
A% BME EFR [IEEP)
=) R #E - BRTE By £ B ® % mE ® &
BRE
=t 1.00 5, 160, 000. 00 5, 760, 000
BnE
= 1.00 2,149, 567. 00 2,149, 567
ik 2]
= 1.00 12, 105, 800. 00 12, 105, 800
R RETC 32
= 1.00 494, 050. 00 494, 050
RE%
= 1.00 204, 190. 00 204, 190
& & fEZERES : 1. 00 20, 713, 607. 00 20, 713, 607
=:1-33
B AVVHME ER Mm%y
=) R #E - BRTE By £ L] ® % M E ® &
BnE
= 1.00 668, 991. 00 668, 991
B
= 1.00 1,574, 600. 00 1,574, 600
& & fEZERES : 1. 00 2,243,591.00 2, 243,591

11




RER-FEL/ \vs5—2

RGBSR A (-12m) REETE

ES :1-34
&% AVME FK 285 HEER,
A b I - KT -Riva = B il £ S " =&
B E
= 1.00 335, 158. 00 335, 158
B
= 1.00 816, 500. 00 816, 500
& 5 YEZEREH - 1.00m] 1,151, 658. 00 1,151,658
&S :1-35
&% AVHE FK 1£€5)= HEER,
A b I - KT -Riva = B il £ S " =&
B E
= 1.00 335, 158. 00 335, 158
B
= 1.00 582, 500. 00 582, 500
& 5 YEZEREH - 1.00m] 917, 658. 00 917, 658
&S :1-36
&% AVME #%F HEER
A b I - KT -Riva = B il £ S " =&
B E
= 1.00 440, 408. 00 440, 408
BH
= 1.00 393, 600. 00 393, 600
& 5 YEZEREH - 1.00m] 834, 008. 00 834, 008
&= 1-37
&% I EFER RE. RS, 1 L (b, In-E 1Yy
A b HIE - BIKTE By = H il £ M ZE " &
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